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TIME:  1.5 HOURS
INSTRUCTIONS:  
 Answer Question ONE and any TWO other questions.

Question One (20 Marks)
Show your thorough understanding on the following  managerial accounting concepts; be briefly and clear.

a)
Distinguish between a direct and indirect cost.
[2 marks]
b)
Differentiate between management accounting and financial accounting.
[2 marks]

c)
Explain in brief the meaning of the terms;
[0.5 mark each]

i. Prime cost

ii. Over heads 

iii. Opportunity cost

iv. Sunk cost

d)
Distinguish between relevant and irrelevant cost and provide examples.
[2 marks]

e)
Describe how a given cost item ca be both a direct and indirect cost.
[2 marks]

f)
Why are indirect costs not directly traced to cost objects in the same way as direct costs?
[2 marks]

g)
Define the term “contribution margin” as applied in cost volume profit analysis.

[2 marks]

h)
Describe the assumptions underlying the CVP analysis.
[2 marks]

i)
What is relevant cost?
[2 marks]

j)
Distinguish between price talier and a price getter.
[2 marks]
Question Two (20 Marks)
A toz company sells several products. Information of average revenue and costs are as follows; (Tshs.)
	Selling price per unit
	200

	Variable costs per unit:
	

	Direct materials

Direct manufact. Labour
	40

16

	Manufacturing overheads
	4

	Selling costs
	20

	Annual fixed costs
	960000


Required:

i. Calculate the contribution margin per unit.
[5 marks]

ii. What will be the total profit when 9000 units are sold.
[5 marks]

iii. Calculate the number of units A to Z must sell to break even.
[5 marks]

iv. Calculate the number of units A to Z must sell to yield a profit of Ths. 1440000.
Question Three (20 Marks)
From the information given below prepare an income and expenditure statement.
	Balance (1.1.2000)
	Tshs.

	Cash in hand
	500000

	Cash at bank
	2500000

	Subscription (income)
	

	(including Ths. 2000000 for 1999 and Tsh. 5000000 for 2001)
	32000000

	Donations
	2600000

	Membership fee
	500000

	Payments:
	

	Rent paid
	12000000

	Stationery charges 
	2000000

	Postage and telephone
	1000000

	Salaries to staff 
	10000000

	Refreshment charges 
	700000

	Miscellaneous expenses 
	500000

	Investment in prize bonds
	1000000

	Investment in DSC
	1000000

	Office equipment
	1000000

	Closing balance 
	900000


Required:
Prepare income expenditure statement for the year ended 31/12/2000.

Question Four (20 Marks)
Identify the best answer among the following multiple choices:
1.
Which phrase best describes the current role of the managerial accounting?    [2 marks]

a) Managerial accountants prepare the financial statements for an organization

b) Managerial accountants facilitate the decision making process within an organization

c) Managerial accountants make key decision within an organization

d) Managerial accounts are soley staff advisors in an organization 

2.
An example of qualitative data is;
[2 marks]

a) Product cost

b) Customer satisfaction

c) Net income

d) Inventory cost

e) Net worth

3.
Product and service costing information is prepared for;
[2 marks]

a) Manufacturing companies

b) Service providers 

c) Each of the other four answers

d) Manufacturing companies without inventory 

4.
Manufacturing costs, typically consist of;
[2 marks]

a) Direct materials, direct labour, and manufacturing overhead

b) Production and shipping costs

c) Production and marketing costs.

d) Direct materials, direct labour, and administrative costs

e) Direct materials, direct labour, manufacturing and administrative costs

5.
In comparison to the traditional manufacturing environment, overhead costs in a JIT environment following are true except;
[2 marks]

a) Are more easily tracked to products

b) Are frequently direct in nature

c) Include rent, insurance and utilities 

d) Most of the costs are likely to be indirect in nature

e) Labour need not be tracked to the product 

6.
As production increases within the relevant range;
[2 marks]

a) Variable cost will vary on a per unit basis

b) Variable costs will vary in total 

c) Fixed cost will in total 

d) Fixed and variable cost stay in the same total 

e) None of the other four answers is true

7.
You are given the cost and volume information below;

	Volume
	cost (Tshs.)

	1 unit
	15

	10 units
	150

	100 units 
	1500



What types of a cost is given?

[2 marks]
a) Fixed cost

b) Variable cost

c) Step cost

d) Mixed cost 

e) Rent cost 

8.
Which of the following statements regarding graphs of fixed for variable costs is true?
[2 marks]

a) Variable costs can be represented by a straight line where costs are the same for each data point.

b) Fixed costs can be represented by a straight starting at the origin and continuing through each data point
c) Fixed costs are zero when production is equal to zero

d) Variable costs are zero when production is equal to zero

e) Fixed and variable costs are curnilinear form above zero on “Y” axis

9.
All of the following statements regarding budgeting is true except.
[2 marks]

a) Budgeting helps managers determine the resources needed to meet their goals and objectives

b) Budgeting is key ingredient in good decision making

c) Budgeting is a book keeping task

d) The focus of budgeting is planning 
e) Budgeting is executive responsibility 

10.
Brogan corporation has the following purchases budget for the last half of 2002:


[2 marks] 

	July
	100000
	October
	90000

	August 
	80000
	November
	100000

	September
	110000
	December
	94000


Historically; the company pays one half at the time of purchase, and the remainder in the month following purchase.


What are expected cash disbursement in August?

a) Ths. 80000

b) Ths. 90000

c) Ths. 95000

d) Ths. 100000

e) Ths. 105000

2

